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Coherence plot using Hanning window
30: H1:LSC-CARM_IN1_DQ
fs = 16384 : 100s from 2013-07-26 02:51:00 -

41: H1:PEM-CS_ACC_PSL_PERISCOPE_X_DQ
fs =8192 : 100s from 2013-07-26 02:51:00 -
nfft=8192, nolap=0.50, navs=199

42: H1:PEM-CS_ACC_PSL_TABLE1_X_DQ

fs =8192 : 100s from 2013-07-26 02:51:00 -
nfft=8192, nolap=0.50, navs=199

43: H1:PEM-CS_ACC_PSL_TABLE1_Y_DQ

fs =8192 : 100s from 2013-07-26 02:51:00 -
nfft=8192, nolap=0.50, navs=199

44: H1:PEM-CS_ACC_PSL_TABLE1 Z DQ

Frequency [Hz]

X: 178 fs = 8192 : 100s from 2013-07-26 02:51:00 —
Y:0.6116 nfft=8192, nolap=0.50, navs=199
- , 45: H1:PEM-CS_ACC_PSL_TABLE2_Z DQ
X: 222 fs = 8192 : 100s from 2013-07-26 02:51:00 —
Y: 0.5406 nfft=8192, nolap=0.50, navs=199
| X: 259 46: H1:PEM-CS_ACC_PSL_TABLE3_Z DQ
Y:0.4972 fs = 8192 : 100s from 2013-07-26 02:51:00 -
L nfft=8192, nolap=0.50, navs=199
X: 350
Y:0.4167
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